1072FEBRIB/IVRADSEN B SR8

4H71 £ | 3 | #e | sE 471 £ | B | #e | ®E
Ragmse | » | 1 DHRVIE|S % (228898 | = |1 |[BEFN$& W
RZwdie | = | 2 | BHE|E *3 e, | - | 3 |BEEEE| & @
Rzmee | = | 1 |EEE|FE= *1EEH;e | = |1 =E | R H
Rmae | 7 | 1 | 55EE|E—4£ A3EE8 | = | 2 |iEHE|E
RaEgsne | 7 | 2 |MPm|E=4R|] |*#2Ee&s | 7 | 2 |BOES 8 =
Ragwe | 7 | 1 | & |BE=4£ *AEEeg | v | 2 R E E
RiFmie | = | 1 [MEE|FE—-H A1 | v | 2 |BEER|#E ®
RiEgwe | v | 2 | FIFE|E LREFEE | v | 1 | EEE|FE—X
Ragie | = | 1 | F2BE|E= EREFE |z | 1 | BAE|FE
RiZmde | v | 2 [ MSET | E ERERE | = | 1 |#REES| &#IE
FiFie |z 1 | =2HE|FE {E TEFHEEe | » | 2 [JEKEH|E—X
REyvde| = | 1 |6 E—24 raEgge | & | 1 | EEE| EE
REyde| = | 1 |BEHR|E-4 2Evge |7 |1 |RTPEE—4
REyde| = | 2 |[BUE|E=4 raEyde | 7 | 2 |ERES| EE
REsde| 7 | 2 |BBFES | E—% 2EYge | v | 2 |FAEREE—4
REyde| 7 | 1 |BspE|E-4 rEgge | = | 2| &F | BEE
REyge| 7 | 2 |BEE| EE FM% wE e T | 2 | EEH| EE
REydge | = | 1| BHE |£5—4% g EFwE v | 2 [HEBERE—L
REgde | = | | |B2E|F -4 FM* wwel v | 1 |RERIE_H
REgde | v | 2 | EEE|F=4 Fwwel e | 1 | H|FEC
FEsde | v | 2 |SEHE| (E(E s@EmRel e | 2 |REL|FE=
REsde | = | 2 |EER| HE Ffr?;* wweEl = | 2 | MEE| BE
REwde | = | 1 [ #% Fowwel = | 1 |BERI| B1E
REyde | = | 2 [HEHE| EE ra.“ é%ﬂ%ﬁ A | 1 |HEE|FE—H
REyge| = | 4 =7 EE Ra¥%#% |~ | 2 |BEFE—4
REYH e | - | 1 [PRRE| FHE BaZyy |7 | 1 |BEEE—4%
RaEyide | - | 1 | BERE| B RFadyid |7 | | |BHOFEE=
T2 & A | 2 |HEB|E—4% Radyd | = | 1 |BREEE—4
T2 = | 1 |G| Rad¥d | = | | |EIREFE—"
T2 = | 1 [JHeE | E=% Faiddyid | = | 2 |[MEE BEE
T2 7 | 2 |#WE|FE—% FaZdy | = | 1 | EBE| EF
T2t I | 1 |[BEE | Rad 3 | = | 1 [ERE| #E
T2t 7 |1 |EEE|F=4 Fagee |~ | | | TEL B %
2 2 e | 1 |EAKE | B (ERawe | & | 1 HEE A
T2t e | 1 | MEEE|FE A |(EgaRE (T |2 |BEEE[E—H
T2 B e | 1 |0 | FE=4 |(EgaRe | T | 1 | BI5PEE| &1
B3 = | 1 [fAFE|E—-%| (EHFFfe |z | 1| #FE |F—&
B3 e = | 1 | FBE|FE_% FgwEe | v | 2 | ETPHEE_L
B = 2 | A= E E BZFERe | v | 2 | EHE|E=4
BEE I |2 |HER|E—4%| |#gxre | = | 1 HEE| FE
BF e e | 1 |VBEE |4 |Egafe | = |2 |=HEE|ESE
BF e e | 1 | fREER | Faase | = | 1 |EEM| EF
F330e | » | | | SREIE—4| |#gxee | = | 2 |bekB | £EE
F330e | & | 2 | HIEE|E-£ Fagie | = | 2 | ZERS| EE
FEFHE | A | 2 | ETW|E=F| |Egaee | - |1 [FTE| BHE
FE3Fe | 7 | 1 |EREE[E—H |Egmre | - | 2 |[HEE| (EF
FEFHE | T | 2 |MUBR|E=H| |EHFaEe | - | | | ET4H| EE
FE2Fxe | v | 1 | EHT|E—% Fggwe | - | 2 |6hE| EE
F3x3e | v | 2 |HES|E_L
F3F3a5e | v | 2 |JFEH | E=4




